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4.3 THE LIMITS TO MAXIMIZING
OPERATION PIZZA—HOW BiQ SHOULD (T GROW? )
 Imagine lhn.youmi’nch&rzco(axhoolfnndrﬁmmmahmouyfmaxhoof
trip. The plan is to sell pizza at school football and soccer games. You are
responsible for making and selling the pizza for each gams. The work ares ar
cooking facilities are limited. You must decide how many workers will be
Study the chart below.
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- -Fill in the blanks on thé chirt 1o show the output sdded by eacll sddidoial worker. To find esch amouat,

subtract the output-before the worker was added from the output afier the vorker was ‘sdded.

.According 10 the char, the pizza operation will experionce incressing gains up 1o & point because of the
division of lsbor or economies of scale. Up to what point do the nm:mdnmwmformk.york«
added? Gains continue to increass up to worker number —__." Explain the reascas for the increasing

At_ what point in your déindon will you experience the liw of diminishing returns? You will sxpsrience
this beginning with worket number Suggest soms ressons foc the diminishing returns. -

Since your workers are all volunteers who do not get paid, when would it make sense to swop adding . /
workers? It would make sense to stop sdding workers aftes worker oumber v ol

Assume each-worker gets paid $50 a day and each pizza slice is wold

at 92, -at what point would you stop adding workers? You would stop
adding workers after worker number = .




